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INSTRUCTIONS

Read the instructions carefully.

The admission to the examination is provisional.
In the event of any information furnished by the
candidate found false / in-correct / incomplete
or illegible detected at any stage, the
candidature shall be rejected.

Please bring the admit card and the
acknowledgement card for admission to the
examination and produce the same as and when
required.

Please put your full signature in the descriptive
roll-sheet in presence of the invigilator.

Darken the circles in the OMR Sheets
completely with Blue / Black ball point
pen only .

Write 'your Roll No. correctly in the space
providea:

Do not.open this Booklet until instructed.

Do not take any other materials to the
examination hall other than pen and pencil .

Electronic devices such as calculators, Slide
rulers, cell phones, log tables, camera etc. not
to be taken to the examination hall.

Please check the No. of printed pages,
Questions Serial No. and in case of any
discrepancy, exchange the same within five
minutes and thereafter no complaint shall be
entertained.

No candidate shall be permitted to leave the
examination hall until the examination is over.

Discipline must be maintained in the examination
hall as per the Odisha conduct of Examination
Act 1988.

The candidature is liable for rejection in the
event of any infringement of the instructions
mentioned above.

The candidates are not allowed to go to toilet
during the last twenty minutes of the
examination.
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CHILD DEVELOPMENT AND PEDAGOGY

gdeoua g4ga SI6QIT AqIy e J2IKIRg | 6296w Aq 0g 2aedg QI8 OMR o4
QIS QTG @Rl / F1R AR 9L IR A A°Yd QR AR R |
Each question has four possible / probable answers. Choose the correct answer

from among them and darken the appropriate circle completely in the OMR Sheet
with Blue / Black ball point pen.

SR F16RITRIQ GIQ LR QA FVRFQ & R 94 ?

(A) QUGG RIFQ ALQYE Q6T (B) <QIZ? gOdl Qe @9&

(C) QIR 8 T2 I8 A8 WAES (D) dqleig 922l 98a SRI8 Q6T
How is the teacher benefitted by the study of Educational Psychology ?

(A) Increases his content knowledge

(B) Gets social status

(C) Develops judgement and thinkingpowe

(D) Develops the power to understand the educand

Qg0d gf Q1919 QLI 2
(A) 69Q gd 99 F48 88 @824 a

(B) 699 g¢ 9@ 5aa 3999 FIY K6Q

(C) 692 gga Alg 60T Faa QaQ alig

(D) 692 g9 IR I8¢ Q8R4 Ald 96Q

What s called an objective type of question ?

(A) Question which measures a specific objective of learning
(B) Question which measures specific topic

(C) Question which has only one specific answer

(D) Question which measures more than one objectives of learning

64/911 Y6LlR FEIee FJYI08 604 JRIFE IFLIR FAIAIREIN ?
(A) Q91 aYE (B) KGNS AQIDEI
(C) QUILLIAR V! (D) QISR AQIVE

ZR —2A/95 (2) (Continued)


Dhruv Vashisht
Rectangle


Which test is mainly used for class promotion ?
(A) Achievement test (B) Aptitude test
(C) Application test (D) Oraltest

A9 FFE RBRIQ AG1RAE PSR ?

A) {48 (B) &Gqeae

(C) QlRee (D) Gealex

Who classified instructional objectives ?

(A) Bloom (B) Guilford

(C) Galton (D) Piaget

@64 S9Q Q96 980 9¢ 90 @R 601N 6g41a JIUININE QTR AR QR ANAER AN
@06286R 64, Y6RIATR FRQQ JIS FQ0I QR | el g9 9LER 699 635q4g 9LI9R ?

(A) 63! (B) Qg1

(C) NeLIa QUELISa (D) <LRIQI

A teacher conducted a mathematics test with.ienitemsandappliadi on the pupils of the
same class at different times and found that marks scroed by each pupil remain almost

constant. What does this indicate t ristie,of the.test ?
(A) Validity ) Ia

(C) Usability (D) Objectivity

AIaR JRE MR A6V 62REF FARE FRUAINAN ?

(A) JQAR AL (B) d9IQle Q9%

(C) QUQee J98 AR (D) d98 QEReY
Which of the following is regulated in mastery learning ?

(A) Teachingtime (B) Teaching content

(C) Minimum level of learning (D) Ohbjectives of learning
JVNQIG ANNER FRIYIRAR| AV 609 IR RIILS ?

(A) QORNAR (B) QeIdgee

(C) yegie (D) 6aQIRa
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The test conducted at the time of teaching belongs to what type of evaluation ?
(A) Formative (B) Summative

(C) Placement (D) Diagnostic

@68 84 9aYIE 100 8 AIede @A 6 @F 626R J40G 699 69416Q Q17 6RYIARI OF 629 ?
(A) g« gedie (B) &g SQI6 6@

(C) gag egal (D) Qo1 6§41

The I. Q. of a child is 100 and his mental age is 6 years. To which class should the child be
admitted ?

(A) Pre-primary (B) Child-care centre

(C) Class-one (D) Class-two

64T QAR1TR g0 P68 B AR @e ATAR Ga AR JORA gRId ARl | 2l 5679 6RReP
golag ?

(A)  UB-NG RIER VIRV (B) QQ192-2019Q Q10

(C) QUG QLN (D) QUEQB FIQ 6RIGTT gee

An individual responded to a particuali stimulus differently at diiferent times. To which of
the following does it indicate ?

(A) Inter-individual difference ) imulus difference

(C) Intra-personal difference a ) he'above

66T g9 692 63TR ARG AT AR 7168 9Le AR, 9T Gl2l 692 Q84 A
@R, 6369 G9! YR 629 Jdg IR ?

(A) BRQ6IGYS! (B) <gRaa!

(C) 63el (D) LI AUCLITO!

If a question measures the same objective of learning for which it is constructed, then it
indicates which characteristic of the test ?

(A) Reliability (B) Objectivity
(C) Validity (D) Usability
Q& 6 YRR 629 2LQIQ 1T B GIeRl A4l (period of stress and strain) g2 ?

(A) QU (B) g2 Qg
(C) 6@6dIUA! (D) edigieql
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What stage of growth and development is called as the ‘period of stress and strain’ ?
(A) Childhood (B) Late-childhood
(C) Adolescence (D) Adulthood

JgQ 690D ARG UG8 6T ALYIL 69R A0 62NN - QI RUER @4 ANV FRYER ?
(A) FaQ (B) Jealew

(C) ealerad (D) @Qae

The intellectual development of a child takes place mainly in four stages — who propounded
this theory ?

(A) Skinner (B) Piaget

(C) Kohlberg (D) Rickson

@641 2IQd AR F67)IB 6L AUCR JQQ 699 AT ?

(A) @6294-0Q@ JAIR (B) QIdY-Q@e IR

(C) dld1-6a89 dgIle (D) QUERIB ANY

Which of the following should an idealteacheremphasize.?

(A) Objective-based teaching (B) Y\ Actiuty-based eaching
(C) Pupilscentred teaching (D) Allofthe above

AIRRQI-ANVS g¢ IO HFlEa 6aR ?

(A) UL 90 — S96 AR 4o aqa Slo@

(B) Q99 09 — g9 @Rl g6 — d94 @6ad FQ @Al — 99 996

(C) 99§ @9l 996 — 98 @9y o @Rl — S99 9@ — 9§ 990

(D) <98 A629Y da 289! — 9g @Al 996 — 99 09 — 99 S64I4l

Which order is correct in the preparation of a standardised test ?

(A) Selection of topic — Identification of objectives — Blue print preparation — Writing the
guestions

(B) Selection of topic — Blue print preparation — Identification of objectives — Writing the
guestions

(C) Preparation of Blue print — Identification of objectives — Selection of topic — Writing
the questions

(D) Identification of objectives — Blue print preparation — Writing the questions —
Analysis of questions
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15.

16.

17.

18.

19.

glefia FNIRA6R JVIININTA ACLIFIRG! 2GR TS 6RRG FIos MR AR ?
(A) 60Q Ad (B) QIFIQIRRQ
(C) 600G 6am (D) 9998

Which of the followings is mainly used to study the punctuality of the pupils at the primary
schools ?

(A) Check-list (B) Interview

(C) Rating scale (D) Questionnaire

NB-2RUAL IR F6LIB 609 G024 A°YL FQULAN ?

(A) AT A2 A (B) C6QI8E A2 A0

(C) Q20T 92 I (D) QU6 AN

Which of the following data is collected for individual case-study ?

(A) Relation with friends (B) Relation with neighbours
(C) Relation with classmates (D) Allof the above

968 629 9RAUP €I ?

(A) 2eS9e 9099 gaal (B) | S8llcim Saisd o R

(C) uud gae 9ol (D) @dela dag

Which of the following Process indi S | i

(A) Process of behavioural chan ) aof gualitative development
(C) Process of practice (D) Allof the above

D& 6TQ6Q ARCYREIQ QALY @&l ?

(A) UG RVIFH1 @GR! (B) UIOQ€Ig RS @<l

(C) 2oREIF AGA K4S (D) @U6QIe ANY

What is the role of motivation in learning ?

(A) Itmakes the behaviour goal directed (B) Itmakes the behaviour systematic

(C) Iltactivates the learners behaviour (D) Allof the above

@68l JAR IR NRLIQ @'§l 6RIR TRIAIRFT ASIREM | K68 BIF 0o Q 8T gealAdR
I2IRQ ALILAS 6@l | 2! RI9Q @ YR $3@ JRal ?

(A) 692919211 (B) 6@QIQgsi

(C) &9a@e (D) QN9

ZR —2A/95 (6) (Continued)
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23.

Ateacher asked the students about the uses of paper. A child gave 10 to 15 examples of
the practical use of paper. This indicates what type of thought process ?

(A) Divergent (B) Convergent
(C) Controlled (D) Imaginary

A8 ABAIRT FRIQ 690G IRIE IR YR 6L ?

(A) SRAY 9@ IRRMIT gR (B) <IQIGe CRagel 2@ Gald
(C) QU8 QIR Qe ARANSICR 26T (D) QRIS NP-6RQD 26T
Which one of the following statement is not applicable for development ?
(A) Developmentis a life long process

(B) Physical maturity is development

(C) Developmentis qualitative as well as quantitative

(D) Developmentis individual centred

?legda a8l d91 f062 @ 99689 R Q80 ?
(A) ¢02 694162 (B) ¢oa aloigd
(C) Qoq dgI9Ie J9ad (B) 1 QA6 Gt

What stepShould be taken for education of under achievers ?

(A) Separate class-room ) p curriculum
(C) Special teaching method a ) gabove

“Hit the Iron when it is hot” — 92| 6QQ 848 F9¢ AAER SRS ?

(A) 996 Fad (B) Ugdlae Sad

(C) oRlae (D) QU6QIB ARIQ 6RGTT g6
“Hit the Iron when it is hot” — on which law of learning is it based ?

(A) Law of Readiness (B) Law of Exercise

(C) Law of Effect (D) None of the above

JIIe 980 98Q 6aw Qa6 O] ?

(A) 9ATIRRE — IR — JORIQ AY — FRYISER

(B) 99FIRQE — Q0NIR — YIRS AN — FRUILSR

(C) 99RIe AN — YAFIRRE — 09 RIS LI — RIS
(D) gATIRAS — GO RIF AP — FJAUIAR — YIHNIFAS
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26.

Which sequence is correct from the point of view of teaching method ?
(A) Presentation of the topic — Explanation — Testing of previous knowledge — Evaluation
(B) Presentation of the topic — Introduction — Testing of previous knowledge — Evalution

(C) Testing of previous knowledge — Presentation of the topic — Presentation of new
knowledge — Evaluation

(D) Presentation of the topic — Presentation of new knowledge — Evaluation — Explanation

JoRIRIe FIINIFFA 6NEe FRIE 762 F8a @'d QA9 ATe ?

(A) SRIQANR gg dIR6 (B) 6@QIUQI1 527 IR Y6QT 6961
(C) Q6D B geFIAR g4 99106 (D) AU6UB AN

What should a teacher do for the intellectual development of gifted pupils ?

(A) Askinquisitive questions

(B) Opportunity for divergent thinking

(C) Ask analytical and application type of quastions

(D) Allof the above

F0RIAR ANIILS 3962 6aUER M2l @l @@
(A) 92 @Iy ) E

(C) 9998 (D) \9Q 9IE

Which of the following is not used in formative evaluation ?
(A) Homework (B) Rating scale
(C) Questionnaire (D) Unittest

QJIRED FFUR QIER

(A)  d1e1 9§ 0ed (B) d94 2RQAR 29
(C) <98 RAIKYH 99 (D) QU6 ANY

In an activity based teaching

(A) learnersremain active (B) learning becomes pleasant

(C) learning becomes purposeful (D) Allof the above

ZR —2A/95 (8) (Continued)


Dhruv Vashisht
Rectangle


27.

28.

29.

30.

Qa6 @9 QF TIFI REQI AR AT AL ARIVE JLE FRUR ?

(A) Q6@ 6 ARAQ (B) Q6@ 6 oIQ

(C) <QlQ B 6aaR (D) Q6@ 86N

Who for the first time prepared two parallel tests for the measurement of intelligence ?
(A) Binetand Simon (B) Binetand Terman

(C) Terman and Merril (D) Binetand Merril

AIRTE FIQ 690G T4l (projected) 87 Q6L ?

(A) QRFQ (B) 0959

(C) <leam dg (D) daed
Which one of the following is not a projected aid ?

(A) Map (B) Film

(C) Flannel Board (D) Still picture

Q618 2BaIew FUQ ARG d9121-6aae J8I I99l TR JIFY 6L ?

(A) dg1ei1e Agd @80l AR AVEA T QL B 2IR AR

(B) 49@ J86-9219@ 9QI96Q Rl @S

(C) FINL6a dgleio AUEE QU6 QRAIRE

(D) dQlEifiess ANFR R4 aa§| g

Which one of the following statements is not applicable for child-centred education ?
(A) Importance is given on achieving learning skills by the pupils

(B) Teacher works as facilitator of learning

(C) Importance is given on the presence of the pupil in the class-room

(D) Importance is given on allround development of the pupil

A ole §9¢ 0] AUATL IR 691G FQUF 6Qa VY FFER ?

(A) JY (B) adeIaQ

(C) 28 (D) 6x12nQ
Who experimented with a cat to establish his learning theory ?
(A) Pavlov (B) Thorndike
(C) Skinner (D) Konhler

ZR —2A/95 (9) (Continued)
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M. 1. L. (ODIA)

a¢ gea Agegad I0Rd Agade gq (8° me @ M8 adie) geea eea @ :

S50Q 9 293 | 62 AR UIEH ARY AR, AR Q6L | QWY A2l 629, I Il AR,
AQ 0I2IR 9ALR 2LHR | 95g6R 30, 9Re6R 8 280, IR F19RR ARG | AR 2R &
AR 6AIFI ? QIR FFR AR | F2 ARIQ AU | IQIQ AP, R 62 | IR Rl [El 962 | AQ
QRQ RIQ F196Q | AIFY @ 9na NS | QITIR 609 RIS | AF! 19 I F4I4 | 638 A9Q
AREQ 698 ARIQ JRUIEQ A°YIFR 2IAIG AIR (1) 6479 26 @ IR RS RAVER YR AIG
Q@elIN | 6ISNAIER Ckl 692 A9 2R RGAIE 691R JIA6R AUYS 626A R4 QT Q1L |
963 RI&2IQ, 6Q6R 66 TR AR T2 ARIEAER, ATG FERIFERE QDG U TNICIER,
S5 6a6m QAT RNTEQ Q1@ | FR1Q AFQ A°gd AR 6 AQ | AR GAY RER BIL!
AAIRQ6d A8 @8 629lg 29 | 90g 900 626 I6R AR AN I AR Q62 Q1T |

31. 6QIGICIER FQ1Q6Q QUYL FIFUIRE FIR, QS —

(A) AQER6R QAL @A 629 (B) §I018@ @ @Q @ & 629

(C) 6Q7lawa 908 AQF 6210291 629 (D) 8urile? flag &P Aiutq QS 689
32. 4@ 296Ra060 ‘Qgl’ AANEA.Q’S 921UIR F1R|

(A) QIdIQ 69K a d) a

(C) Q9ia @19 (D) Q219 QI QAR

33. 3698 AIQ 6990 ANIAER, FEQ ARER ATIRQET IR ARERAG 24 ?

(A) 999 IR 1R (B) 4Q1QQ F9Q 2R

(C) agigaqdqd (D) <IRGR R A€6a QUISES Aa!
34. UF ATAIEER TG 626M AT R VCFAIR, FIQE —

(A) QR 62IR AF Y QI (B) gl QI 9150 621Q K RQAIQ

(C) 2w 2396Q FINRR ARSI JIQ (D) 99Q AQI8 QG

35. @ 2P6RaT6R ‘A’ 990 629 2d6q eI 6218 ?

(A) 99 (B) ¢
(C) o4l (D) Q@

ZR —2A/95 (10) (Continued)
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RAQIG Q10 @A FIRFe g4 (8° M9 Q ¥o) J&ea 2 &Y :
A9QIQ NYAR| IQY 2QEE!
AR FORE AR 9QEE!
@19R Ul AYAY CAIRTR AR
QI'g a1l 6QIRAE dF URIQ |
A QIR 6911R2N JARD 7S
QF JIQ QQAUN 109 g8
U6R RO 6212 FI2IQ IR
Q' Al 6QIMAIA d 2RI |
ged 204¢ @@ 01, F6Q QIR
U6R @RRIN gQ 62UV QIR
QIFQIP 6RIVGY QIR RIALIQ
Q' a1l 6QIRANG e 2VIQ |
Qa8 §ae AR QIRel 0!
HIQ2N GRS Y66l @R 2l
@QaIN A0 TN

oI'Q Cldl 62IR2IE A ASRIQ |
Q260 GRIREINES FR4AER a d d a
9919 99Q Q24 2Id A6a AR
698 QUL 98l 6Q4IN QR

QI'g F1)I 6QIRAUIB AF AR |
ARG QIR JRTC 62212 @8 KDL ?

(A) @ (B) o9&
(C) SquI (D) 6a18d & @62

Q6418 FRIQ 6296 ‘199 Ul AY A AR AR A°BTQ 2 9IIH [QE ?
(A) A8 AY 6RIR FI2IRT6Q AR G

(B) A8 RY 6RI9E JIR FI2IQ F19F AUQ AQH 621R2IN

(C) QI2Ig A% AN 6AIER Q1HGR °02 A gIdal *QalIE

(D) 94 A8 AQ CAIRTA F19R AR FIER @QEIN

ZR —2A/95 (11) (Continued)
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44,
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4°d0 @F0IT JRIAQI QIR €A F69T AT ARG 629 UL :

(A) g0Y2 ATIN6R Q10 FQAU ERIRE AANER AT A69FR AR
(B) D9 4R-R02IQ &9 ¢’ AARER AT FAIAR!

(C) AFGIQ AQUELIT FRUAIR AVUAE 623!

(D) JAINIINARF AARER AAYS AR 699

3¢ 940 629 RUINE @H1EGY 6AIRT 2T Qe ?
(A) URQRA AP JRIFS QAR

(B) 691995 ROIARIg QULIQ 69

(C) INIQIS 9g F 26aRIE 98 Ny 9 IR @<l
(D) 999 904g AL AFHER RAIAR FQR

QA8 RF0IT F67)I8 FIQ 6% 6541A AL ?
(A) 99gPe S1Geael (Ode) (B) 64I@ 910%! (Elegy)
(C) Q108 918w (Ballad) (D) NS (Satire)

AFRINR RS A6l D618 JIUTe RIAIARIQ 6RRE AR ?
(A) 99 69d LT EATIS!
(B) 2Qepat g A°6IU6R 60lIG QuEhEs0 aRar 699

~

(C) 6260I8 2AUHAIC IRTIRT 697 APER WERT

(D) 6alEd YR QIR 690 6ia/ | dﬁ
Ae @Ol AR IR F6TIB F1IQ 6 1SRG 690l @G0 ?

(A) 498 JQQ 6991 AGe
(B) QIR FAGI QU6Q JQQ 69l QS
(C) IRAEFL 61890 QIR

(D) WA YRRYAIH 6 YISO UN-QIRY AIER ANLA VIR 6adleq daIdiRIeg ALY

oIkl
“ gdiwa 96215 goeR 6nd QIRY6R RLIR @R I’ 121 699 IR g4 ?
(A) 9R8ARIRRE (B) 78K 2eQeea
(C) QIY QRN (D) QNIABY
9 YR O U FRIIIE — JRIeR 62IRIN |
A) 9 (99) (B) (&%)
(C) ¥ (91Q) (D) & (QI8)
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SET-A
45. IMNIRAEA F191099 (Wall magazine) geid @QUAR! QIQl SNITAIRTA :
(A) Qe Q! QAR (B) Qdigf QQIQe 622
(C) APAAR 39T Fad0 629 (D) JuIERIER FIQAIGT 6269

46. AYING 6826Q ‘UdicaRd’ T 567 624 JIQIR ABFO ?
(A) 8o (B) <I¥I9RQ
(C) eMde (D) 6416dG @62

47. 6296 ANGe gUILe (Summative Evaluation) 962 ?
(A) K19 LY (Knowledge based objective)
(B) QMBI @624y ( Expression based objective)
(C) 6@ @swdy (Understanding based objective)
(D) 99d<l 9x1K4l ( Proficiency test)

48. IGQE AIGRITIER ACGI AL KR FI@
olg 9@ RIFT G466 S8R ARIQ ARER RID !
QUEQI8 @901 C°@fia, eedel —
(A) QT QualIglel ale (B Q@ea@ AULe e G
(C) Q998G QI (D) YaIIRD Glaliclo: 6¢182Q

49. Baguida/Galgirie f218 G659 699 99e JIfKIFUO JOIR TAIRIUER ?
)
)

(A) 64Dl B AMIRY O a E
(C) QIgagIR

50. ‘‘de% 09w AIQ
§1Q4-a%Q aEge
@Q0Iat6R ‘59’ deta 2 -

(A) Qdge (B) Q&g

(C) aIRIega (D) 4 289l g a6io asl
51. 6906 2a¢ dIoIgLIR AV 968 ?

(A) 44 6RLR0! (B) AMYCQRIQ YoTRR

(C) VA AR JOTRe (D) <UIAILHNRS!
52. QIFl 9@ 71218 36718 FRIQ 699 AGRIQ AR 2SR ?

(A) eI (B) @@1del

(C) digemgl (D) Q9%

ZR —2A/95 (13) (Continued)
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58.

59.

60.
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“QaeaInl 21 AIRGQ’’ JI°6E JPIRRIA F6FIB RIQ 6 F6AT ARG & ARG 629 ?

(A) 689IQ AR RIS FE6Q

(B) @IQ919 6418l 21 QRIS A Q4IF 8 ALIRG| L°ARER FIF6
(C) 6QIRI SEA6Q RIFIGR FAED

(D) REQRIPT ARMIFIRG I 2186

@91 AedQl 64 W62} 22Ul |

QRYTER 2P GG JoQ AYQ |

(A) & (B) 9QIQe

(C) Q6L (D) <19QiEe

Q9@ Q8Q 2IF 6 QIR JIQ gIAf@ dIg MRLIQ 62IR2IN |
A) 9 (g9) (B) ¥ (91&)

(C) 9 (82) (D) r (a10)

‘61 6ellQ GIE” AAVIT JRIRARIA AINIRY QAERY F6FIB FRIQ A 62ARAAIER ?
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2 D0DBYIS0S® B DFIIT§O00 J0¢ko K588 GrEBew 1Yo 2

(A) 1901 (B) 1902

(C) 1903 (D) 1904

19066° 5°¢ (H57°¢806° IHE B0 ?

(A) Do &gB (B) 2088

(C) aHs (D) &eS
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(A) 1931
(C) 1933
35. 2rerodd % oresprd 98 ?
(A) oy
C) @y
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(B) 1932
(D) 1934
(B) &

(D) DB

BI0H DAY DeGH0S® 36 (57%) 909 40 HEDH TV [FPOND ?
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P00 AZ 02200
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©95°88 &H5°EH50
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BB DBRBD ARDI ORI
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BHEO ABVPO g8 HBOBE0EHD
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GBS 206000 ‘éboq)&?:f)é
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36. KB85¥0en JHE 50K ?
(A)  DoarosHren
(C) doegHen
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SET-A
SETRELE $BEO IHE TBLD ?
(A) 2EY (B) 0%
(C) g (D) &BsdoKam
RPN BB D WS STRHY @D BEVMNHS® IHK RSB ?

(A)  ~¥o S0 (B) Q010 05308

(C) Ry = (D) VYo dose HATY
€007 80 HERNDHL @R 2

(A)  @PosEAD (B) §%%w

(C) H&s0 (D) RSN

DB IV YT ?

(A)  &55°88 &55°850 DoHEo (B) e55°88 &55°8:500 Dabcso
(C) 955°68 e9seEon Basreso (D) DA ==y

o0 a3z AP DHIT0NS® DA B

(A)  ReHE DIPD0H0 ) 9555090

PR, T N m‘é.}oeSs 23RPODR ?

(A) &8585 (B) sooogo
© o5 ©) w65
‘QBHY) VOY) DTS’

(A) 585778 Sod0 (B) & So0sm
(C) #S P (D) DB

B a3ifes RegR0 HHESLBHN DY) VODWBZNOL 2,838 D90 ?
(A) 10 DodEss0e (B) 11 J058ysHnen

(C) 12 J0HEnsamen (D) 13 H05%)850e0
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SET-A
2BRm)S® QK BT ANHL D960 YA ?
(A) 20¢R8 (B) &S0HAB
(C) fSexd, (D) 830
HO%e3¢s DoEey ©aT°:Y) D VONBISHNS” 3RYoOSB ?
(A) 1858 (B) 1861
(C) 1862 (D) 1864
D08 FREVF0’ X0 NADHNRO DD RSB ?
(A)  K8ee )T (B) 2. doseonrso
(C) VDo 39 Iose HATY (D) 285
30000858077 ) DEAINES® 95y,
(A) (D0 HBDBEW (B) BgHabh HEoHsw
(C) &ydaD HBHE (D) 5200 DOH D090

DIEHETPA DEDEIK BINDH T3S IB FBAHIE ?

(A) D30, DY, [FPalNe; 5& ) WD) ey (FTROINET,
(C) V& [FPasve| DA 86 a ) [9°000D8), BEIY)ED
©0oBTAAH BESD DOPR> D> RDOTD ?

(A) 1858 (B) 1863

(C) 1860 (D) 1861

DEBND DEH0D E0D0G. HOTF + 200N

(A) o520 (B) 0378
(C) Sora (D) 285
AIPBHDN INIBHDVIE é§®8§ DDV [FPO30H ?

(A) >89 (B) &&8

(C) Dorsdddaw (D) argfonds

ZR —2A/95 (34) (Continued)



53.

4.

55.

56.

S7.

58.

59.

60.

OTET - P-1I

‘588’ ©93) §)8 JDK 820088 ?
(A)  Jo §po) (B) 28500080
(C) B DTEy 7Y (D) BoIQJose 773

CATPHHB D0 HE) DB H0B0BHNDIB EBoBIL”?

P 908 2 D&Y FHI0SDE.
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(C) S¥erss (D) B%H00%0 (22003003
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(A Haeo B) Tevden

(C) Bodarmos050 (D) Bogyen
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(A)  esoBoHed (B) SN

(C) or0H ) Bodeseen
‘E00D8? B TSR0 DI (7R

(A) SIR"ocE"Y a;vw&s'aag%w
(C) Basormrddgen (D) &3. KHDIERN

‘©0B0W0002)’ &8 TEINITE ETIVO[ ?68@\" BB S8 BIHD HSH0OK eagéw DBIBH ?
(A)  2s20B0%0 (B) D05

(C) DoeypE,e (D) %o&%0

‘:;)Ogi% £’ o ‘o:))}_()ogoé’s EE0 DB BOOL 8 Iy

(A) D30 SH0 (B) &% scobw

(C) #3S P (D) DB

©023¢5);60 BOE® (Hmew 250886 ?

(A)  Ses2e0-aesan (B) ®hgsD

(C)  esfHr (D) DB
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ENGLISH

Answer the following que stions choosing the corre ct alternatives given
(Q. Nos. 6110 70) :

The Right of Childeren to Free and Compulsory Education came into force in

(A) 2008 (B) 2009

(C) 2010 (D) 2011

The NCF, 2005 aims at providing quality education to all the learners by :
(A) Connecting knowledge to life outside the school

(B) Ensuring learning to be shifted away from rote learning and making examinations

more flexible
(C) Enriching the curriculum for all round develpment of the learners

(D) Allof theabove

Effective learning takes place whenthe learners are:

(A) passive )
(C) interactive a ) reparing for the examination

Reading for comprehension and explanation in the 5E Model of teaching can be best

achieved if

(A) learners speak words softly while reading

(B) learners read silently

(C) learnersrun afinger or a pencil under the line

(D) learnersread the textloudly

The subskill of is ‘Skimming’. :
(A) Reading (B) Writing
(C) Listening (D) Speaking
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Some noise in a language class indicates

(A) indiscipline of the learners

(B) teacher’sinability to control the class

(C) constructive actvities with the learners engaged in language activities

(D) in-competence of the teacher

For learning a language perfectly and scientifically the first two macro skills that a learner

should come across in the process are :
(A) reading and writing

(B) listening and speaking

(C) listening and reading

(D) speaking and writing

The terms like “Simile” and “Metaphor” are associated with :
(A) prose (B) noetry

(C) story (&) Sgrammai

If RMSA/OMSM, SSA ; .
(A) DPC a ) ERT
(C) OPEPA ) S

Students need to brain storm ideas, organize them, draft, edit and revise their work. Itis a

process which reflects :

(A) reading skills (B) writing skills

(C) listening skills (D) speaking skills

Read the paragraphs carefully and answer the following five questions
(Q. Nos. 71 to 75) choosing the correct alternatives

Long-term prisoners are allowed to keep animals pets. The commonest pets were
squirrels and mongooses. Dogs are not allowed in jails but cats seem to be encouraged.
A little kitten made friends with me once. It belonged to a jail official and when he was

transferred, he took it away with him. | missed it.
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Once a jail official left behind a bitch. The poor thing became a homeless wanderer
and starved. As | was kept in the lock-up outside the jail proper, she used to come to me
begging for food. | began to feed her regularly and she gave birth to a litter of pups under
a small bridge. Many of these were taken away, but three remained and | fed them. One of

these pups fell ill and gave me a great deal of trouble.

The pets that are disallowed to the long term prisoners are
(A) squirrels

(B) mongooses

(C) cats

(D) dogs

The author missed friendship with a little kitten since :
(A) the little one died

(B) the littlelone was kept in the lock-ug

(C) the little one went away with its master

(D) itsimaster didn’t allow their fri d d

The poorthing that became homela a
(A) dog (B)  kitten

(C) bitch (D) mongoose

The author could feed the bitch regularly as he was kept :

(A) inthejail proper (B)  withthe jailer

(C) outside the jail proper (D)  none of the above
| began to feed her regularly.

Here the underlined word isa/an

(A) Noun (B) Pronoun

(C) Adjective (D) Adverb
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Read the poem carefully and answer the questions choosing the correct
alternatives given (Q. Nos. 76 to 80) :

There dwelt a miller, hale and bold,
Beside the river Dee,

He wrought and sang from morn to night,
No lark more blithe than he

And this the burden of his song
For ever used to be,

“l envy nobody, no, not |,

And nobody envies me”.

“Thou’rt wrong my friend !” said old king Hal
“Thour’'twrong as wrong can be :

For, could my heart be light as thine,

| would gladly change with.thee.

And telhme now what makes the sing
With voice so loud and free,

While I'am sad, th ' [
Beside the raﬂ ﬂ a

Thie Miller smilled, and doffed his cap :
“l earn my bread,” quoth he ;

“I love my wife, | love my friends,
| love my children three;
| owe no penny, | can’t pay,
| thank the river Dee,

That turns the mill that grinds the corn,

To feed my babes and me.”

76. The Miller leads a quite happy life beacuse :
(A) heearns his bread (B) heloves his wife, children and friends

(C) hedoesn’'t borrow any money (D) all ofthe above
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The Miller’s song is compared to the song of :

(A) abird (B) asinger

(C) king Hal (D) amusician

The Miller thanks the river Dee for :

(A) helives beside the river (B) itturns his mill

(C) he sails his boat there (D) theriveris very famous in England

The king Hal envies the Miller of his :

(A) mil (B) wife

(C) three children (D) happy life
“The Miller smiled and doffed his cap.”

In the above line the word ‘doffed’ means::

(A) removed (B) puton

(C) threw (D) burnt

Answer the following questions choosing the correct alternatives given (Q. Nos.
81t090):

While passing by, | heard ablind boy a beautiful devotional song.

(A) sing F e
(C) tosing a )
Please meet me :

(A) on Monday nextweek at 11.30 AM in my office

(B) at11.30 AM on Monday in my office next week

(C) inmy office at 11.30 AM on Monday next week
(D) at11.30AM nextweek in my office on Monday

Mrs Aishwarya Roy Bachan has eyes.

(A) beautiful big blue (B) beautiful blue big

(C) Dbig beautiful blue (D) Dblue big beautiful

Mansi, a friend of Lopa’s died an air crash last week.

(A) of (B) in

(C) from (D) by
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The Passive of :
“People say Netaji was brave”.
(A) Netaji was said to be brave. (B) Netaji was said to have been brave.

(C) Netajiis said to be brave. (D) Netajiis said to have been brave.

The indirect speech of :
“Let’s stop here and rest for a while”, Gomati said to her friends.
(A) Gomati suggested that we should stop here and rest for a while.
(B) Gomati suggested her friends that they should stop here and rest for a while.
(C) Gomatisuggested her friends that they should stop there and rest for a while.

(D) Gomati suggested that we must stop here and rest for a while.

Had | had a lot of money,
(A) lwould buy acar (B) lwillbuyacar

(C) Iwill have boughta car (P) Twould haveboughta car

One comeg across areal good Hindrmovie only'‘once in‘a blue'moon.

The underlined phrase means :

(A) always

(C) sometimes (D) everymonth

Mr. Senapti was given a cold reception at the Party.

The underlined phrase means :
(A) awelcome lacking affection (B) agood reception

(C) areception with cold drinks (D) areception with a good humour

The meaning of “in the swim” is
(A) tocrossariver by boat

(B) tocross ariver by swimming
(C) tobeinariver

(D) knowing latest current things
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Q&Ie 9Q° ¥RIQ
MATHEMATICS & SCIENCE

60lIGN Q°EHYIP 6QT A°HYI6Q 17 2Q 6LIFREM 6D 162 9 | 6969 A°HIT 6960 ?

(A 7 (B) 8
) 9 (D) 10
The number which when added to itself 17 times gives 162. What is the number ?
(A) 7 (B) 8
<€ 9 (D) 10

30 @ 60 ARISAT 68 LIIAIREA A°EY B 651RK AIIAIRER A°EYI ATV 6860 6941 ?

(A) 15 (B) 16

(C) 17 (D) 18

What is the differénee in number of compound and prime numbers between 30 and 60 ?
(A) 15 (B). 16

(C) 17 (D) 18

6x° — 2%+ 3 = (2x + 5) (3x° —2x + 1ﬂsde ?

A 1 g ) a

(C) 3 (D) 5

What is the degree of the equation BXS —2x + 3 = (2x +5) (3x2 —-2x+3)?
(A 1 (B) 2

€ 3 (D) 5

5x — 12 = 8 Q 66015 @ &g ?

(A 1 (B) 2
€ 4 (D) O
How many roots has 5x —12=8?

A 1 (B) 2
C) 4 (D) 0
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SET-A
4+3x+ 2% + x5 @ —x° + 2x% + 3x + 4 Q646 A6R F6AS TR Q6 629 ?
(A) 6x (B) 4x°
) 23 (D) —2x°
What is the value when — x3 + 2x? + 3x + 4 is subtracted from 4 + 3x + 2x% + x> ?
(A) 6x (B) 4x°
) 2 (D) —2x°
a* = 21 cosna @ qlie 6968 ?

625 a '
3 3
+° >
A g B)
C 3 D) 5
© -z (D)
if 2% = oL then what in the value of ‘a’ ?
625’ en wnat In the value or a -
3 3
+> =
A T P s
C 3 D) 5
©€) % (D)
X Q gERINR YeRIFQ 6QIFIR @ema a
(A) —x ®) -
C) 1 D 1
(©) D) —

What is the additive inverse of the multiplicative inverse of x ?

(A) —x ®)

1
€ 1 0
50 - 30 +10 + 8 — (5 + 2 - 1) § 40P QNIEIER 6296 G019 6QIAR 26 ?
(A) 30+10 (B) 3+8

(C) 5+1 (D) 50-5
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What is the 2nd step of simplication of

(A) 30+10 (B) 3+8

(C) 5+1 (D) 50-5

QP = AURR X YITR + QUAEHY, IAEP 699 ARG GRIAIN ?

(A) 6xdala 986 (B) oNAQ U8F

(C) QRGeI J8G (D) QUAIgeY |G

Divisor = Dividend x Quotient + Reminder, which method is it called ?

(A) Napier’'s Method (B) Euler Method

(C) Euclidean Method (D) Ramanujan Method

601N QYR ATG MY AR Q216 6eMIYEa FFINY 96 ol 24 | QTR AFS Ry
6@60 Ol ?

(A) 133 (B) 144

(C) 117 () QR oLt o o8,

After giving 33 10/0 of discount on the m%ré |ce elll(gfﬁee—ﬂecomes Rs. 96.
What isithe mar?(ed price of the arti d da

(A) 133

(C) 117 (D) None of these

QP 3 OFI6Q 76 6R9, B 6aIAIR 41 T 6aQ 19 eFI6a @8R, FAGe adgEe AUQ 6RRE
gge ?

(A) QUL a6 SR (B) 6QIQIR 9216Q @&al

(C) @e@ AL IAER @&iem (D) g erIQ 683G @ee

Ram bought 7 lemonin Rs. 3 and Gopal 41 lemons in Rs. 19, which of the following state-
mentis true ?

(A) Ramaboughtin cheaf rate (B) Gopal boughtin cheaf rate

(C) Both purchased at the same rate (D) None ofthese
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SET-A
102. 9@ 3A=5B Q° 4B =6C 9916062 A: C = 6@60 ?
(A) 5:2 (B) 3:5
© 2:5 (D) 4:5

If SA=5B and 4B =6C, thenA:Cis?
(A) 5:2 (B) 3:5
(© 2:5 (D) 4:5

103. @@ 996 EC || AB, m| ECD = 70° 9@° m| BDO = 20° 6069 m| OBD = ¢q¢o ?

(A) 20° (B) 50°

(C) 60° (D) 70°
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SET-A
601G QQe QP3LERIE A°HY| 6R6Q :
(A) 3 (B) 4
(C) 5 (D) 6

The number of Exterior angle of a triangleis :

(A) 3 (B) 4

(€ 5 (D) 6

AG Ql 0UQ YW BYIR YATIER IR AR CRHIER @M Ia° 6AAIREA F1d AR QR 626m,
QPR

(A) QA G8} 6269 (B) Q71699 Q9K 6269

(C) Q9 200l FI} 6269 (D) Q9 QG FI] 6269

When the bases of two or more than two triangles lie in a straight line and their vertex is

one, then the triangles are :

(A) With same base (B) With same area
(C) With same height (o) S\WiAhSame e iah
@@G‘ ARIQ 6RIGIQ 663G ARIQE QI@ anrg ?

(C) 3 (D) ?Jlecﬁl @2l

How many common sides of two adjacent angle ?

A) 1 (B) 2

< 3 (D) None of these
60T 9Q@Q Rl 6 91’ B Sld QIal 6106 Teg @& gRIKIN ?
(A) 9aaew! (B) <Qada

(C) 9@ ady (D) 28R

What is the shape formed by the chord and its arc of a circle ?
(A) Sector (B) Segment

(C) Circumference of the circle (D) Halfcircle
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ABCD ¢I13@ac6a 98 AB || CD 94, 6669 AC? + BD? = ?

(A) BC?+AD?+2BC . AD (B) AB?+CD?+2AB.CD

(C) AB?+CD?+2AD.BC (D) BC?+AD?+2AB.CD

In atrapezium if AB || CD, then AC?+BD?=?

(A) BC?+AD?+2BC.AD (B) AB?+CD?+2AB.CD

(C) AB?+CD?+2AD.BC (D) BC?+AD?+2AB.CD

AIBT 2AFBQ AQRERE DQAAG AIUR 6R60IT FF6Q 620 AR AIRES ?

A 1 (B) 4 (C) 5 (D) 10

The maximum number of points in which five non parallel lineed will intersect each
other ?

(A 1 (B) 4 C) 5 (D) 10

AIREE 599F0RIQ ERATR 9EAR.2AV. QD 2

(A) SEAI G9E (B) W 2o
(C) QW@ 89 (D) 9@

From the following figure, which ha drda
(A) ScaleneTriangles a ) es
(C) Parallelogram (D) Circle

Q6418 FRIQ 6296 98 AIOIYIR 9L 910 ATER BRIRG 6L ?
(A) Quie1 6FGe (B) Q¢IR1C B 65902 9197 AHGS
(C) UNIRY AIOY FaG A2 AN (D) 2ALARNQ QIOY @Y

Which one of the following is not associated with the principles of preparing mathematics

text books ?

(A) Learner centred

(B) Flexible and related to day-to-day life
(C) Correlation with other curricular subjects

(D) Inflexible contents
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‘9@ JQIVE 699 AERNIER JLE 62121, Q9! 63D YRS AGAIT F6a I’ Y2l ANVER
629 99g IoIR 2 ?

(A) Q6T (B) <2590l

(C) QgAFael (D) 63!

“Atest measures that it intends to measure.” Which quality of the Test does it indicate ?
(A) Usability (B) Objectivity

(C) Reliability (D) Validity

glefia QUIRaA6R 6de d9I9Iea gIRAe 29916 JQIg1a 697 @8G! AUER JQQ 69 ISR ?
(A) QHY JRGE G AdI@ (B) Q¢ &R 8 QUK
(C) QISR A°6Rea Ygeals (D) @@l B BeFx QY

Priority is to be given on which ability during the initial stages of teaching Mathematics in

the primary schools ?

(A) Numberindentification and counting™ (By . Multiplicatiaiend Division of numbers

(C) Application of Mathematical symbols asurement of height and weight
Q6719 PIQ 6995 A6RIGE GI80R a

(A) <SR Qe
(B) QIEio A0QYIQ F64S4l
(C) ¢IEee QI AT AUVNER QUIBQE!

(D) QI&ER RIS JRAIER Q6 ada B A°6HNUR

Which one of the following is the indicator of the top-most mathematical ability ?
(A) Writing mathematical definitions

(B) Analysing mathematical problems

(C) Translation of mathematical language into symbolic representation

(D) Identifying errors in mathematical solutions and incorporating corrections
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22R20 Qo7 9F 6RI9Q 6996 686 JNIQINa 63F]Y ?
(A) a0 gels Q@

(B) QUAILR JHRG G RAQPAIR ARIRAE

(C) 3999997 QAR AR

(D) QUEIs AL

Which characteristic indicates the organisation of Mathematics curriculum ?
(A) Systematic Presentation

(B) Systematic and sequential arrangement of contents

(C) Inter-relation of topics

(D) Allof the above

P64 213 2F FA6R °HIIYFF ARIR 6ad AIQR | YLl YR 629 VS IOIRB ?

(A) Q@ 6 Ale A°dYl S8AIQE (B) <@ 6 Qe Ad¢Y JaQ *AIQE

(C) Q@ 6 AIe A°EHIR Q7 9EUIQE (D) Q@ 8 AIf QY 6nJHAIQE

A learner arranges the numbers in ascending order. \Which.abilitycf the learner is indi-
cated by it 2

(A) Identifies big and smallnumb
(B) Distinguishes big and small na a
(C) Understands the sequence of big and small numbers

(D) Writes big and small numbers

@64 219 €2 G2 ANNAEA AR A7 97 TS AR QTR 64, Y6LIR YA NI 601 99 A4
Q8 Y9° 980 Y AR QRYS | 92! JEeR 69 eGP IPIA8 ?

(A) 2leque (B) 26

(C) Qegad (D) Q°6g&l

While drawing different circles of different size, a student observed that the diameter touches
the centre and the diameter of the circle is twice its radius. Which methods of teaching
mathematics does it indicate ?

(A) Inductive (B) Deductive
(C) Analysis (D) Synthesis
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-_SET - A
QD6YE16Q TR JBIRe I8 FC6a 609 I8E AU6LIT FRAUAIRR ?
(A) 26l (B) a6l
(C) Q[egad (D) QAQYl QeRIIQ
Which methods of mathematics is follows in solving geometrical logical problems :
(A) Inductive (B) Deductive
(C) Analysis (D) Problem solving

Q6418 FRIQ 6296 26D IRGR QT 26T ?

(A) Q92 QIGER RIS AR AFAYS (B) Q99 Q6N 948G
(C) Qe dele QAR (D) QY68 AT
Which of the following is a disadvantages of Inductive method ?
(A) Notuseful to solve all mathematical problems

(B) Time consuming method

(C) Possibility incerror in findings

(D) All of theabove

q6d8 gel ARG P06 JER 21gCIew JItl 6960w dae @IdY UIdY Q6m | 9678 AUQ 6R0G

gee QIdy AAGo g6e ?
(A) AL A2l @8R! a ) tatal
(C) 9@l g @&l ) | SVAER QR NG

A project work was assigned to a group of student for celebration of Ganesh Puja in a
school, which of the following is not related to the project ?

(A) Making decoration and arrangement (B) Collecting fees

(C) Purchasing Puja materials (D) Writing essay on Ganesh Puja

(@) QIFO INP6Q IRIF AIOYRT 9LE 2l VAR J8G 2GS |

(b) QAT ARTER IYO ARIQ AIOIGS a9 YA 2Q | 6541a FUIgE IR AUYS 26T |
€) QFE ARG6Q gYo FRIS AIOIFE ALgIdde 69481 Sauldia IR AUYS 969 |

d) F8Ie FVAILA ATS FRAIGP 69R AAFE AIOIRF JYE AATQ Q62 |

(A) (a) 8 (b) O ¥<° (c) 6 (d) R (B) (c) 6 (d) O 9a" (a) 8 (b) g

(C) ()8 (c) Ox & (b) 6 (d) @R (D) (b) 8 (d) O <° (a) B (c) @R
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(@) Integrated approach of curriculum construction in science is a theme-based approach.
(b) Integrated science curriculum is quite suitable for the learners of upper primary classes.
(c) Integrated science curriculum is not suitable for the learners of upper primary classes.
(d) Itis not possible to prepare integrated curriculum taking all branches of science.
(A) (a)and (b) are correct and (c) and (d) are wrong
(B) (c)and (d) are correct and (a) and (b) are wrong
(C) (a)and(c) are correct and (b) and (d) are wrong
(D) (b)and (d) are correct and (a) and (c) are wrong

122. 6966 294 56915 0IQ 8R ?
(A) Q@ (B) %o 9@
(C) onge (D) 9@ gaa

Which one is different from the other three ?

(A) Lime (3) @SN lper: ]
(C) Quickdime (D) Lime stone
123. 629 629 9986a AR ARG AQS.I5% U8 32.600_621Q8l1N._?
(A) 6R9R AASH JEIER ) ABYUIR @dE6Q
(C) QL ANOR B AAR FT§6Q (D) QATOR, ISR B AAR-I AN J&6Q

In which mirrors virtual image of the same size and shape is formed ?
(A) Onlyin plane mirror

(B) Bothin plane and concave mirrors

(C) Bothin plane and convex mirrors

(D) Plane, concave and convex — in all these mirrors

124, IRYe IRIe IR 6 J98 e :
(@) N VR 2 IRIFAQ 2GR |
(b) QYR (JRIR) JVR AR |
€) 499 6 3l QUG Qe 6291 PGS |
(d) @624 QY@ AVIYR JLR QI QS |
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QAUERIB F624IRR FQRIT F0IQ @R 61 AIQ 689 A6 O] ?
(A) abcd (B) bcad
(C) badc (D) acdb

For effective teaching and learning of science :

(@ Well-equipped laboratory is required

(b) Resourceful teachers are required

(¢) Low Teacher-pupil ratio is required

(d) A goodnumber of reference books should be available

Considering the importance of each of the above which one of the following sequences is

correct ?
(A) abcd (B) bcad
(C) badc (D) acdb

QIR FINCETR AT 2GR 69116 69Q AHIR ARG 2R, F6F]ID 6RAGTER 6l 69D A°FHIR
aQgllg &g ?

(A) 6QIFIAE ARCTER 661G 214! B) \ 0B TR 5TCQ 661N g

\

© Xel[2iotal QI@@IGQIGQG‘Q Q61T 2| 69151990 6916Q6Q 6T 2|
Which ene of the following contaln otal'atoms as that in two mol-
ecules of cupric nitrate ?

(A) One molecule of ammonium sulphate

(B) One molecules of aluminium carbonate

(C) Three molecules of sodium bicarbonate

(D) Four molecules of potassium chlorate

60lIGN QJ6Q g6RYR 40W Q @a6 IQIQ QRQ 8 Jd6aie 60W Q Q@6 SQiQ defl Gaq 5 Qg
6REIN NRRIRNIR LG 626R TR AIACA 6260 FAT QR I8 VTG 629 ?

(A) 15 (B) 20 (C) 30 (D) 40

If two electric bulbs of 40W each and two electric fans of 60W each are used simulta-

neously for 5 hours a day, how many units of electrical energy shall be consumed in the
month of April ?

(A) 15 (B) 20 (C) 30 (D) 40
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IR AN AQdle SRR :

(@) T6e Ade RAIQI 2ig 9@ @8 AVIB R 629 |

(b) FRQ Q6L AIYE FAIQI P2IG €& 2Q VNS 69R 629 |

() Q6IVRANFE QAU ATRE QA CERR IS 60R 629 |

Q618 FRIQ 6RAG ASE UPEAT 62 ?

(A) 62% (a) (B) 6@o@ (c)

(C) @w% (a)8(c) (D) @@ (a)8(b)

In science related studies :

(@) Inference can be drawn from the tabulated data made by self.
(b) Inference can be drawn from the data tabulated by own friends.
(c) Inference can be drawn from the data tabulated by a group of experts.

Which one of the following would be the right step ?

(A) (a)only (B) (c)only
(C) Both (a) and (c) (D) Both (a)and (b)
6Qa6 0] 6@ ?

g

(A) &L gegg — @9 RULERIT — 6716919 — D&
(C) @IRERIE—621927] — qmema a— dinkelaled = a8
Which oneis not correct ?

(A) Nucleus — Chromosome — Gene Cell - Protoplasm — Nucleus

(C) Cell-Cellmembrane — Cytoplasm (D) Cell - Cytoplasm — Nucleus

@) 991!, 689 6AQ AR gYM |

(b) Q°6@9, 6897 66 AR JYRY |

(A) (a) 0R e (b) @R (B) (b)OR e° (a) gw
(C) @e9 (a)8(b)OR (D) @@ (a) 8 (b) g

(@ Symbolis applicable to elements only.
(b) Formulais applicable to compounds only.
(A) (a)is correctand(b) is wrong (B) (b)is correctand (a) is wrong

(C) Both (a)and (b) are correct (D) Both (a) and (b) are wrong
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130. 699 FIFQ 9CRRAIT 62IAFTAER AN F6L ?
(@) 100 gll. (b) 200 g
) 250 g (d) 500 gl.
el 9@ —
(A) RS J4 (B) 6@ g4
(C) d62I9@@e 94 (D) 6Q9Reaa J4
Weight of which denomination is not available in the shops ?
(@ 100g (b) 200¢g
(c) 250¢g (d) 500¢g
Thisisa/an:
(A) Knowledge-based question (B) Understanding-based question
(C) Application-based question (D) Skill-based question
131. 56919 699 CUREANS G2 UQAEQ URAR ACE' ?
(A) 96 @7 FdINen (r,\ Ab R 6L el g A0 IIRR A8IAER
(C) PREQUAR ARTAR &g F8Inem D) 96 g 691% f1dlasn
In which one of the following.cases a differengikind change occurs ?
(A) Adding lime to water
(B) Adding sodium chloride to W
(C) Adding concentrated sulphuric acid to water
(D) Adding glucose to water
132. 3698 699 63960 AQeR @UE6R And JEan 6100 6212l ?
CLEVUCEM QY -
(A) Ceaalg (B) CGF e alg
(C) F e ald (D) F 8P e
In which one of the following cases an erect image is formed in a concave mirror ?
When the objectis :
(A) AtC (B) BetweenCandF
(C©) AtF (D) BetweenF and P
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(@) goude A8 TRITe

(b) gouIEe 2IeRdIce JaQaR

€) &oda JgIQe Ay

(A) (a) 8 (b) IR 26S 99° (C) 9@ 26T (B) (a), (b) 6 (c) 902a 0IQ &2
(C) (a), (b) 6 (c) YR AT (D) (a) 8 (c) IR &G 9e° (b) @@ 26T
(@) Expected Learning Outcomes

(b) Expected Behavioral Changes

(c) Specific Instructional Objectives

(A) (a)and (b) are the same and (c) is different

(B) (@), (b) and (c) are different from each other

(C) (a), (b)and (c) are the same

(D) (a)and (e) are the same and (b)is different

6R96 24 F6RIT OIQL AR 2

(A) QP ga ) NS
- & @ adda
Which one is different from the other three ?

(A) Salivarygland (B) Pituitary gland
(C) Sweatgland (D) OQilgland
QUARRR ANRAE FLERER FYIH 918 52 I AFYH! 91Q 52
(@) 699R IORIRRYLRR PR ERHICN |

(b) 699R QUYL FPER EMHICAN |

() @@ Jdo1ee 8 AQINYLa0 996Q 6RYILIN |

(A) (a) O e° (b) 8 (c) @R (B) (b) O 4e° (a) 6 (c) @R
(C) (c) O 9% (a) 8 (b) @R (D) @gsaIa (a), (b) 8 (C) 9F 69163 Faq Q@
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In chemical equations downward arrow and upward arrow are written :

(&)
(b)
(©)
(A)
(B)
(@)
(D)
136. (a)
(b)
(©)
(d)
(A)
©)
(&)
(b)
(©)
)
(A)
(B)
(©)
(D)

By the sides of the reactants only

By the sides of the products only

By the sides of both the reactants and products
(a) is correct and (b) and (c) are wrong

(b) is correct and (a) and (c) are wrong

(c)is correct and (a) and (b) are wrong

There are no rules as stated in (a), (b) and (c) above

F0Rae (F0RINR) RYIAR FVIAFR QIR FLYPT 526 PR |

FORAA FRIIAR VIR @R ALY F90 @R |

QORI (IMYlde QIR el ALl UL 6L |

AAFR JAUGR.NRFI YR 6967 F0RFT JNILAR 6T 2IQNIR! Q1D |
(a) 6 (b)Og ¥9° (c) 6 (d) gm (B), (&) G(d) O W= (@) 8 (b) @R
(d) Og' 99° (a), (b) B.(c) @ (D) (b) OR &* (a), (c) 6 (d) gm
Formative evaluation diagnoses the weak spa@its of teaching.

Formative evaluation diagno < a S roing.

Time is unnecessarily wasted by formative evaluation.

There is no need of formative evaluation when there is provision for summative evaluation.
(a) and (b) is correct and (c) and (d) are wrong

(c) and (d) is correct and (a) and (b) are wrong

(d) is correct and (a), (b) and (c) are wrong

(b) is correct and (a), (c) and (d) are wrong

137. 66lI5N F160RIQQ 9Iede a8easl 25 ms™ aal | 69] J6LIS @RRIQ FIQE 2 616a46a FRIeIg
IR | QTR QRS 6R6Q R ?

(A)
(®)

12.5ms™? (B) —12.5ms™
25 ms ™2 (D) —25ms™
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The initial velocity of a motor car was 25 ms™. On applying brake it came to rest in 2
seconds. What was the acceleration of the car ?

(A) 12.5ms~? (B) —-12.5ms™

(C) 25ms™ (D) —25ms™

XY, 9% 61390 A°6R0 266, AN X @ aIg N° Y K 2RI 6T | Y 8 X Q 6246l
Q2IQET :

(@) 162 621aaI6a (b) 261 621a9I6a

() 366 621R0I6Q (d) 462 62Ra6a

(A) (a) 8 (c) O e° (b) G (d) @R (B) (b) G (d) O 9a" (a) 6 (c) @R

(C) (a) O 9° (b), (c) 6 (d) @R (D) (b) O 49° (a), (c) 6 (d) @R

XY, is the formula of a compound in which Xis a metal and Y is a non-metal. The valencies
of Y and X respectively may be :

@ 1and2 (b) 2and1l
(c) 3and6 (Y 2and?

(A) (a)and(c) are correct and (b) and (d) arewrong

(B) (b) and (d) are carrectand (a) and (c) age wro
(C) (a) s correct and«(b), (c) and addg a
(D) (b)iscorrectand(a), (c)and e

609 I8G6Q IR 997 RIL ARWA G F09 QAR JIR YR 6T AR 621NN ?
(A) 6916996 86 (B) QY AARIIFEIPNS AT

(C) FRAGIQ ARG (D) gode 986

In which method ample opportunities are available to the learner to discover and construct
new knowledge :

(A) Project method (B) Problem solving method

(C) Laboratory method (D) Demostration method

6RITR RIRG GE AR 6ARG ARY F6RIT 0IQ &R ?

(A) 69IRG (B) alelaa

(C) <lggd (D) 62919195Q-B
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_SET —A
Basing on the causative factor of the disease which one is different from the other three ?
(A) Polio (B) Dysentery
(C) Chicken pox (D) Hepatitis-B
6290Q QR ARy F6RITR Iaw 0IQ €@ ?
(A) <lI9 (B) <@
(C) Qo (D) Q9!
The unit of which one is different from that of the other three ?
(A) Pressure (B) Force
(C) Thrust (D) Buoyancy
ARIQ C10 AFAIY FAICR ARG FP VIR IR F6YIB FRIQ 69N IRGE ARILR ?

(@) o9 goIa AR FI&

(b) oag |18 AR IR

() @@ 28 AT IR d6a Y& 216!
(d) @P6Q 6FAQ TN IR TQIIEx

N NER
(A) K19089 99 ) PR J9
(C) deaaR@D g4 ) @< 99

According to science, which one of the following method is better to make water safe for
drinking ?

(@) Filter the water after boiling

(b) Boil the water after filtering

(c) Filter, then boil and again filter the water

(d) One candrink after putting chorine tablet in water
Thisis a/an:

(A) Knowledge-based question

(B) Understanding-based question

(C) Application-based question

(D) Skill-based question
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SET-A
143. A9RIIQ 8 QR AR 6QP 6RRG ?
(A) NaOH andHCI (B) KOHandH,SO,
(C) NH,OHandH,CO, (D) Ca(OH), and H,SO4

Which one is the pair of strong base and weak acid ?

(A) NaOH and HC (B) KOHandH,SO,
(C) NH,OHand H,CO, (D) Ca(OH),and H,SO,

144. 96@ QUKIRYR! 9RU2ER A 8 B @g F1:I6Q Q7@ (AQIAT) dG6QUM 6R6Q 629 ?

1Q

1Q 1Q

\ -

1
A 504 ) 3
(C) 264q a )
What will be the equivalent resistance between the points A and B in the circuit given

below ?

1Q

1Q 1Q

i ®)

(A) éOhm (B) — Ohm (C) 20hm (D) 30hm
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145. QUG ARG FMIRAYLR Qe JIAde 644196a6a ARIe dlIale Ffa 6718 -IQ 6
JRIQIR ARGT QIR ?

(A) SRR ARG (B) 9ode 980
(C) 691689Q6 98 (D) QA AARIFIRD AGD

Which one of the following methods is desirable for teaching science in the upper primary

classes of the general schools in India ?
(A) Laboratory Method (B) Demonstration Method

(C) Project Method (D) Problem solving Method

146. 62996 2 6441 QS ?
(A) Q, g2, 921, A (B) oI &A@
(C) 2as8ge Age (D) aldege afe
Which group bélongs to a different ¢lass?

(A) Mercury, venus, Earth, Mars Gas giants

(C) InnerPlanets restnal planets
147. Qig 91099 AIg! - a

(A) 6P YR 6@I8l RUER oRQ d1e

(B) 6299 ARINYFIR 990 U6 YRR

(C) 2 TSR 6RI4 I9° ARINGFIA 90 AUER FRQER

(D) QUEAUB 6AEAT AUCA FAAGR 6L

The degree of lateral displacement :

(A) Isdependentonly onthe angle of incidence

(B) Isdependentonly on the natures of the media

(C) Isdependent on both the angle of incidence and the natures of the media

(D) Isnotdependent on any of the above
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() QUQI6RIRRYFNER FQ B 64. F. I9P UG @9 |

(b) <lam, 92¢, & 2IF AIARIQT 6QRNFYFRER FLUR G @. gl. YRR MNLE 2 |
(€) g9l QI UITQ URFIQ 6QIRIQ JFRER Gl G F. gll. Iae NG 2 |

(d) goQl ARl B ARQI 6RIRRYFRER @. gl. G FIF I9R QY 24 |

2 QRIRGGP 629 65819D ?

(A) RLLRD (B) 6QRIQQe

(C) g6 (D) 6RERRRAR

(@ Units of metre and cm are being used in the cloth shops.

(b) Units of quintal and kg are being used in the whole sellers’ shops of rice, wheat,
sugar etc.

(c) Units of gram and m.g. are being used in the shops of ornaments of gold, silver etc.
(d) Units of kg and gram are being used in the retailers shops of grocery and vetegables.
All these illustrations.belong to which category ?

(A) Knowledge-based

(B) Understanding-based

(C) Application-based
- 4% ¥ adda

6296 A4 F6RIF 0IQ AR 6441e ?

(A) dal (B) qlQeai@aqn
(C) aluidas (D) 6993Rae
Which one belongs to a different class from the other three ?
(A) Amoeba (B) Plasmodium
(C) Paramecium (D) Penicillium

Q6418 QIelealg QY 29 ?
(A)  QuIeQael (B) @9lIg (C) QIQlg (D) Qg8
From which one of the following AIDS is caused ?

(A) Bacteria (B) Virus (C) Worm (D) Protozoa
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dlIfIge al0
SOCIAL STUDIES

HIRERRT AUFQA F9IQ TR 699 FRIEAHQ RGP Feq ?

(A) Q&I Gl (B) <uig Q¢!

(C) 2Io1 gl (D) Qa2 9l

From which of the following rock inscriptions the detail information of Kharbela’'s reign is

found ?
(A) Rani Gumpha (B) Byaghra Gumpha
(C) Hati Gumpha (D) Bhalluka Gumpha

1947 32160 VUG IIIGI AINKAS AFACR AUAG B UIFAIR IR 6R6OIT 64619 AURY
aml ?

(A) 526 (B) 536
(C) 562 (D). >6¢

How many princely states were there bothin India and Pakistan when India got Indepen-

dence inthe year 19472
(A) 526 a ) g

(C) 562 (D) 563

@4 6099 AUV VAV’ QPR A6 ?

(A)  asl (B) @l

(C) QIR (D) QUGS
Who did compose “The Mahabharat” in Telugu language ?
(A) Pampa (B) Kamban
(C) Nanaya (D) Ramanuja
Q6418 AIQ 6996 9@ 39a 657 Q@Y ?

(A) geedie 9g4IQ (B) a&dud de@
(C) ¢edudl 41 (D) «@a9e
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SET-A
Which one of the followings is a famous Jain literature ?
(A) Pragnyaparamita Sutasastra (B) Abhidharma Pitak
(C) Mahabibhasa Sastra (D) Kalpasutra

QRIERYAR EATINIGIGE FRIFY B6C)IB QIR FUIQ @ U FAURYEM ?

(A) 929 202699 (B) RUFR 202699

© e 6Q1PRELRR (D) URTRICQR

Who among the following did excavate the Kausalyaganga Water Reservoir in Bhubaneswar ?
(A) Narasinghadev I (B) Langula Narasinghadev

(C) Ananta Barma Chodagangadev (D) Anangabhimadev

209 AR QA F6gIBlIew FUIQ VIR ANAINDR e ?
(A) QTR 699 (B) ¢af @odcecae
(C) @019 RFTRINER (D). 22226 62I2GFE

Who of the fallowing rulers was a contempaorany ofAdikadi Saralabas ?

(A) Kapilendra Dev B) Narasinghadev—I

(C) Anangabhimadeva— Il a )gagrma Chodagangadev
Q6418 FIQ 6% 694 ‘ARG AIPT 0N6R A°UD Felom ?

(A) 99eIR (B) @R

(C) gleq (D) A0S

Which country of the following was not associated with the formation of “East India”

Company?
(A) Portugal (B) Germany
(C) France (D) England

2l QAUIRE 699 UIQIER AIFJIFR JERIQ 2RIFIR JIR *QUIIRS ?
(A) 29 (B) 31
(C) 30 (D) 32
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In which of the following articles of our constitution, the right to constitutional remedies has

been assigned ?
(A) 29 (B) 31
(C) 30 (D) 32

Q6418 FIQ 6906 IR 6CIRR YRR Q62 ?

(A) QRILFIA 2R (B) QAILQIQ ANKQ

(C) QHRAC YRR (D) QYL@ 8 IS UYRIQ
Which one of the followings is not a fundamental right ?

(A) Rightto Freedom (B) Rightto Equality

(C) Rightto Property (D) Cultural and Educational Right

Q671D ARIQ 696 GIRHE goad ‘AIFIOR (BRI G’ QU TIPS 62IRAN ?
(A) QIg —8 (B) qig—9
(C) 626970/~ 8 (D) £2€0 .9

Which one of the following dates is observed every year as the ‘iniernational Women'’s

Day’ ?
(A) 8~ March a d)d ﬁ
(C) 8-—September ) 9= mber

QAR ARIeE ‘9T’ @RI, RIQE 67160 —

(A) QAT 6dIfIe dQa6R (B) @@ QU 6dIdia dgaen

(C) QRIRE QTR DR (D) Y8 AMILIR 6CITIQ DY
The Islam saints are called ‘Sufi’ because —

(A) They puton clean clothes (B) They put on woolen garments

(C) They puton ordinary clothes (D) They puton very costly clothes

AIRGRIAN FURIE YA 609 AHAUAR 2SS -
(A) @ (B) 6&Ql@
(C) Al (D) ¢1&aIQ
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Most of the inhabitants of Maldives belong to which of the following communities ?

(A) Hindu (B) Buddist
(C) Muslim (D) Christian
2618 FIQ *T6RY 699 629 AIF°F JOT QAR ?

(A) gy e°4 (B) Q& Q°4
(C) 6QIa ¢ (D) 629 Q°4

Which one of the following dynasty did Kapilendra Dev establish ?

(A) SuryaDynasty (B) GangaDynasty
(C) BhoiDynasty (D) Keshari Dynasty
YR AUFA°ARQ AP0 6R6063IT QUVIER RS ?

(A) 5 (B) 10

(C) 15 (D) 20

The Charter of the U. N2 O. has beenyvritien in,novwmany language s+«

(A) 5 (B) 10

€ 15 )
660 6l AU 6N ALK a j dgig, 196l 6 QAU Jgl

IR MY FRUAIRG ?

(A) 85@¢ (B) 86 o«

(C) 8794 (D) 88 o¢

According to which constitutional amendment, the provision for free and compulsory edu-

cation has been made for the children in the age group of 06 to 14 years ?

(A) 85th (B) 86th
(C) 8T7th (D) 88th

Q618 FRIQ 6996 PRI 60IFERT 6ANRIBAIR UPS R ?
(A)  Q2ll6QILT (B) 2gleqiet

(C) 961 (D) <RUGR
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Which of the following was not included in the Armed force segment of Anantavarma

Chodagangadev ?
(A) Chariot (B) Cavalry
(C) Elephantry (D) Infantry

AIRT0 6949FR FRIQ 629 6QE6Q 1688 1. 26a 64|AAQ FeRIAR AATE 62IRAURI ?

(A) dig (B) s

(C) edlQ1 (D) QoIR1

In which of the following countries did the Glorious Revolution take place in 1688 A. D. ?
(A) France (B) England

(C) Germany (D) ltaly

oI 66leae ¢10 QeIQial AIde calpaal ?
(A)  §16508Y (B) Qiqlge
(C) a=qIolgl (D) Qe A%

By whom was the Gobardhana Matha in Puri, established?

(A) SriChaitanya ) manuija
(C) Sankaracharya a d)drada
Q618 FRIQ 6RAE IU6TITIR QI Q6w ?

(A) MIIR AR AQAAIRT JRIFY AR

(B) @9 qlg 21d IR Iy @GS

(C) YIdR AR ARG eI =ata]

(D) QLR AR AT FAR0 AR

Which one of the following is not a function of the Pressure group ?
(A) Toinfluence the members of the Legislative Assembly
(B) Towork for self interest

(C) Torequestthe members of the Legislative Assembly

(D) To control the memebrs of the Legislative Assembly
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SET-A
dIBOYIIRQE URIQ QFERIEIQ 606 A4 F6RIT 0IQ @ ?
(A) Qo (B) 96w
(C) @6 (D) 6491699Q

Which one of the followings is different from the other three from uses of learning aids ?
(A) Slide (B) Model
(C) Video (D) Projector

AR ALY 6TV AIQ 69X ANIP R FERUEA ?

(A) @y (B) @6l

(C) 6@ (D) @&er

Which of the following states was not conquered by Qutubuddin Aibaq ?

(A) Delhi (B) Kanauj

(C) Kaoli (D) Kalinga

2691996 FRIQ 6AUE QIR IR T 4é Wi AT L 2

(A) QIrI0fe QR0 (B) UIcO8@ Q0QQ QPRI 59
(C) Q68N BIe @) G 6 99IR1 FVU6R R

Which'one of the following is measa

(A) Organisational ability

alyation ?

(B) Comparative picture of relative achievements
(C) Analytical knowledge

(D) Knowledge on system and process

2618 FRIQ 6296 JIAR A6 APAA FVNRIR FF63 AR AACIS AKE ?
(A) 9f QR (B) QaQyl Qenie

(C) gode (D) 2ERIPRI B 94Ql

Which of the following is more relevant for the teaching of histroy ?

(A) Storytelling (B) Problem solving

(C) Demonstration (D) Discussion cum narration
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114. Qi@ 9IFIQ JRUIAR F6CI8 JAILAYFRR AIQ 699 6541R ?
(A) AN (B) 65QI7a
(C) Qoaqee (D) QANTAQ
Evaluation in the Annual Examination belongs to which one of the following categorise of
evaluations ?
(A) Placement (B) Diagnostic
(C) Formative (D) Summative

115.

116.

117.

R -

Q618 FRIQ 6RRE 699 URYAS ARG ARIFCA FVIAFR AVCIAG! 62 ?

(A) JR1E 2990 AR FFI J2d K6Q

(B) 2I92I91w F1-IEQ ALEUIF 8 YR00 AR Q] 99

(C) @4 AN RIF LA 6KIS!

(D) YoY% 6 LR NR AR

Which one of the following is not relevant to impart education through the process of field trip ?
(A) Student gains knowledge by experience

(B) Emergéence of ideas of cooperation andieam-spir

(C) Opportunity for acquisition of knowledge through work
(D) Acquisition of direct and conﬂdﬂ@
Q6918 C1UIQ 6@ ANIFD FJRIEI | IeL ?

(A) LRRIRS! (B) 4gstaldle Qlsl

(C) AR 8 A°YeS KD (D) 2L

The teaching of which of the following social values is not associated with history teaching ?
(A) Creativity (B) Disciplinary growth

(C) Social and cultural knowledge (D) Internationalism

6R96 2ERL IRT AIIFR ATLIA UI0UR QA el AVRQAF! TP FRIQ 66T 962 ?
(A)  dgleha Q19de 48 6 9oRIa A96dIe 99

(B) dgIelia Qo2Id g0 2Ige Q6@

(C) 2R1e AMR6R JIeQ UIRUIRE! 29

(D) YUQIQ P12 62IRARE0
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Which one is not a benefit that a student gets by teaching history through dramatization
method ?

(A) Utilization of mental power and talent of the learner
(B) Enhancement of interest of a learner
(C) Development of cancretidea about the past

(D) Pastbecomes lively

Q618 RIQ 6RRTP YO RAQI AAAEA AP FV AW, TV IR, ARILAS, AT,
J8% QAR 8 AMIIAR QUER IR 6QAIP SN ?

(A) Q10991 (B) QI06LIRR!
(C) QI0YgeR (D) 98gAE 6QIRAI

While preparing which one of the following emphasis has to be given on instructional
objectives, content selection, examples, presentation method, analysis and evaluation :

(A) Lesson Content (B) LessonPlan
(C) TextBooks (D) Tour Planning

6Q96 @RI00! QIdY 486 AHFE @62 ¢

(A) 92 ER 6 9 UVRER N6

(B) ISGER A6 NP QF6R

(C) 669l ACHACH KAIRN 6Q6R d d

(D) <Qlel AIg6a AR 999 e@ea a

Which one of the following is not associated with the Black Board Work ?
(A) Writing in clean and big letter

(B) Keeping distance among lines

(C) Towrite and erase simultaneously

(D) To give general ideas on the left side

162/13@ Q0€Ion SRIIRIER Qa6 e A2I9e 6RIaeelid ?

(A) AAAEREl (B) qidad gaal
(C) Qloy gaw (D) QAL 9L
Which teaching-aid is not essential in teaching historical events ?
(A) Time Line (B) Guide Book
(C) TextBook (D) Reference Book
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AlIRPQ6Q TR FRAFF a9 IR 62X AT NIV FAILIN ?
(A) Q9@ (B) 2@l
(C) Il ala (D) dlIe Q@
Which colour is used to show shallow water on a map ?
(A) Green (B) Yellow
(C) LightBlue (D) Deep blue

6290 PRIYR IR FAAR G682 ?

(A)  ag°d (B) Qge 0IQ 9199 o3
(C) Q@ (D) Qge 98 PR YOl
Which is not a factor for regulating climate ?

(A) Latitude (B) Distance fromthe sea
(C) Longitude (D) Altitude

Q% AId 21 QIRYER 6RLN0I6Q JIITQ RARRL AF2IN 2

(A) 99q Q@ (B)\ 88052

(C) 4601998 (D) @@¢ Qg

Where do the rays of the sun fall vetically 1 ?

(A) Topic of capricorn é d)ﬂa

(C) Arcticcircle (D) Tropic of cancer

‘e’ QAT 6aw FLRIRT 98 QIR 98 621K ?

(A) K1 (B) @aQlg

(C) Qe (D) QO 9%

The land-form “Barkhan” is formed by which agent of erosion ?

(A) River (B) Glacier

(C) Wwind (D) Underground Water

AIRTQ AUVFER P61V 620G UQYS P62 ?
(A) QIG5 QU Sgl (B) <IR0Q QW&
(C) QIeSQ oK (D) QIRTY ARIIRR
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Which of the followings is not included in map study ?
(A) Learning Map Language (B) Map Preservation
(C) Map-reading (D) Map interpretation

126. 6996 2910990 JRIQ 6L ?

(A) @o (B) 69@
(C) dda (D) 99¢
Which is not a form of condensation ?

(A) Hailstone (B) Cloud
(C) Dew (D) Fog

127. 629 996 9Q I6Q |IIFARQ Q@] ?
(A) 676Q139Q 6 26AIFaQ
(B) 2a6dIdaa 6 96a13aR
(C) <69 860613
(D) QAR B 676Q1FAR
Stratosphere lies between which of the fellowing two spheres 2
(A) Mesosphere and Thermosphere
(B) Thermosphere.and Troposph d d
(C) Troposphere and Mesosphera a
(D) Exosphere and Mesosphere
128. 8%9IQ AP MR €N 6eQ 98 QI8e 6IRR! RINEQ VIR @ULDIQEmI ?
(A) ogd (B) 9o
(C) Q019 (D) Qe
The Hirakud Dam Project of Odisha was established during which five year plan ?
(A) Fourth (B) Third
(C) Second (D) First
129. 3699 ¢die Q24 AIQ 6966 R ?
(A) Gean (B) Q1Ql
(C) 6RAANAG (D) q@l
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Which one of the following minerals is different ?
(A) Nickel (B) Lead
(C) Chromite (D) Iron

6RER OIE6Q 60Q QUG geals FAUAINRLN ?

(A) QAPe AIQ (B) QQILERR AR

(C) 11§ AR (D) @6stie

Which element is not applied in Bio Farming ?

(A) GreenManure (B) Chemical fertiliser
(C) Bio-fertiliser (D) Compost

609 QEG SR UBRER QU ?

(A) <o (B) 6912Q1R

(C) Q@ (D) QIR 6OM
Which tree is found in Taiga ?

(A) Fir (B)% Mehogant

(C) Rubber (D) Palmoll
3G9I 66IAINYR UEREA @ IR 7

(A) edlael a ) a

(C) <1eg19 (D) QRIAIGNL,
Which type of climate is felt in Gopalpur of Odisha ?

(A) Monsoon (B) Desertclimate
(C) Equator climate (D) Mediterranean

6541 2AQ9R B AI0ARR USRER 689 FER 6QHIAN ?

(A) a9 (B) 6aI@e

(C) @@l (D) <QIQIA
Which type of soil is found in Angul and Athmallik of Odisha ?
(A) Alluvial (B) Red Saoll
(C) Black Soil (D) Brown Soill
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134. 629 QB0Q QEINRG QYS! 98 A AP QIR ?
(A) @ AQYIFQ VIS I G 2l Faae
(B) QI9RI26Q 2 QRIAal
(C) QUYNLRQ AGFIQRIE] ARANS Q1<
(D) QY I
Which of the followings doesn’t have any connection with Global Warming ?
(A) Emission of poisonous gas and smoke from industries
(B) Smoke from vehicles
(C) Decrease in carbon dioxide in the atmosphere

(D) Deforestation

135. Q2IAIGQ ATOR 699 6541 7 QIR 2ABFE ?
(A) gas (B) Qola
(C) gom@ (D) e9d

The Oceani¢ Floor belongs to which cateaory of land form 2

(A) First B) Second
.. ﬁ g
136. QIERGOQ YD QR YPYD 6576 @ 0T 2O 2Q6LQ ?

(A) Q21901 QLE1, 636941, adgau
(B) 63041, QIgdl, A219a1, A8gaY
(C) o8, A2Iea1, A4, 63004
(D) QI94d1, 636041, ATAYI, ALIFR1

If one travels from Balasore to Berhampur via Cuttack by train, he / she will pass the rivers
in which order ?

(A) Mahanadi, Brahmani, Baitarani, Rushikulya
(B) Baitarani, Brahmani, Mahanadi, Rushikulya
(C) Rushikulya, Mahanadi, Brahmani, Baitarani

(D) Brahmani, Baitarani, Rushikulya, Mahanadi
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AR d2LBUl YEREQ 6@ I8 @ Q°sHIEQ 6QdldIz ?
(A) 2Io1 (B) <

(C) Q9Ia (D) <&l
Which animals are found more in swamps of Assam ?

(A) Elephants (B) Tigers
(C) Crocodile (D) Rhinos

R0l QIR ARG YAR16R 6% AR AU FEF ?

(A) gas (B) Q01

(C) gota (D) egd

Which place has India got in the production of cotton in the World ?
(A) First (B) Second

(C) Third (D) Fourth

QRLIRER QYRR RO @4 ?

(A) Qlgigl 98

(B) uR€Q98dIo

(C) QI9fILIR 201Q IR

(D) 2IRISR! 990 6541Q @R @@a a
What is the reason for forming a de n stam™

(A) Riseintemperature

(B) Uncertain rain fall

(C) Sudden change in temperature

(D) The spread of Arabali from North to South

QAI6AS 6M2 QG IR 69Q QAURICR UTEG ?

(A) <leda (B) QIFiRQIg
(C) «4iea (D) 20d9@

In which state is Salem Steel plant situated ?

(A) Jharkhand (B) Tamil Nadu
(C) Karnatak (D) Chhatisgarh
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SET-A
JQIAIEFR AVBRAR YR 9Q 2Rl JIR J89? '8 @8Rl AFQ ?
(A) dQiEines 69IR0 @86 (B) JIIQIeE IR0 QA6
(C) Q0¥ 92aq JQUIY Q@QURER (D) 6941160 QPR JFRAI6Q FRY 6962

What should the teacher do to remedie the interview weakness of the learner ?
(A) Inspire the learner

(B) Strengthen mental strength of the learner

(C) Practise the text-books of the learner

(D) Give emphasisin oral testin the class-room

Q60199 Ja 986218Q 6996 OF ?

(A) Q6P IR AT IRIQ (B) Q69IR 9@ gIgee IR

(C) REOIR IR JIPER 8 IR IR (D) Qg

Which one of the following is correct from the Nature and Scope of Geography ?
(A) Geographyis a Social Science

(B) Geography is aNatural Science

(C) Geography is a Naturaland H dd
(D) Allofthe above a a

Q6T AIRTYER ‘=" 52 QlI2Ig IR ?

(A) dRAeR 92 (B) @A 9
(C) @Iv1g QRIS (D) 6@l

What does the symbol ‘—="indicate in the Geographical Map ?
(A) Concrete Roads (B) District Roads
(C) National Highways (D) Railway Lines

QI919 Q60IR FANQFER Q6T 699 AROT QUELIT 621RAN ?
(A) gede (B) gode1
(C) g2 adieand (D) Q6QIT AFICQIE
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Which method is useful in teaching regional geography ?
(A) Demonstration (B) Exhibition
(C) Free Observation (D) Indirect Observation

Q60IR RIS 980 Q8Q 6246 AR F6IT OIQ & ?

(A) @91 adiee (B) QI gode

(C) 699 AAYAE (D) <RYAE

Which one is different from other three from Geography teaching point of view ?
(A) Study tour (B) Educational exhibition

(C) Field trip (D) Excursion

629 gRIQ g4 990 @091 ¥0% 3 A9 AN A JNIILS 90, FYM B ALR 6QIRAIN ?

(A) <gae (B) @6Q44Q@e

(C) UPYR LRFIAR (D) @14 2RI

Which of the following type of question is dfficult endtime consumingio prepare but easy,
speedy and correct evaluation ?
(A) Objective

(C) Veryshort answer type

@66 J9@ 9F 694910 RN YAT AR6R 0B AR 6 FIF1A 9IAYEQ 76T @8 ‘QedIne’
dg0o @09l AR QB6m, 12l REFIN FVIARR 626 ITVG LIRS ?

(A) NG AdIeR (B) QIR1Q QA&
(C) 9IA gl A°Ge (D) 998 JAQIRR|

To which method does it indicate if a teacher dividing the students of class VI into two

groups by engaging them to prepare a globe using local resources ?
(A) Local Tour

(B) Local Visit

(C) Collection of Local Specimens

(D) Project Planning
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601N FI95@6Q €ll: @ 1 : 1000000 | @8 FIRTR6Q Q& AIe F1IEQ QG 4 62. . 626 Q4
QU6Q IIR QTR IO 9a0! 660 ?

(A) 4&. 4. (B) 404&. 4.

(C) 104&. 4. (D) 100 4&. &.

R : Fof amapis1:1000000. What is the actual distance if the distance between two
places in the map is 4 cm ?

(A) 4K. M. (B) 40K.M.

(C) 10K.M. (D) 100 K. M.

629 QFf FIRP8R AIRQAY 9PIRAN ?

(A) aa (B) Qllg Qe

(C) 2P QI (D) <R exdell

Which colour does indicate the plateau in the Geographical Map ?

(A) Gery (B) Deep Brown

(C) Light Brown ()T Deep. vellow

@64 d9@ FIN0E ALIUVIER QAR LG U daltlley Qolpen, Ll Qe6lm IR 69

A80g 9OIe8 ?
(A) JFFIARIR goda a ai%@sa@

(C) €2 ddyeaqd (D) <6QIR dYcamd

A teacher taught the position of India using a physical map. Which method does it signify
in Geography teaching ?

(A) Demonstration of teaching aids (B) Directobservation
(C) Free observation (D) Indirect observation
N AR O I

2A/95 (77) (Continued)



OTET - P-1I

Space for Rough Work

addaz2y

ZR —2A/95 (78) (Continued)



OTET - P-1I

Space for Rough Work

addaz2y

ZR —2A/95 (79) (Continued)



OTET - P-1I

Space for Rough Work

addaz2y

ZR — 2A/95 (80) OTET-II



